Soluzione Es 2 (compito 1) - Versione che usa registri $s*

conta_sost: addi
bne
1w
beg
add
jr

retl: SW
addi
jr

ricorsione: addi
SW
SW
sw
SW
add
add
srl
jal
add
sll
add
srl
Jjal
add

1w
1w
1w
1w
addi
Jjr

s$to, s0, 1
$al, $t0, ricorsione
$t0, 0(sa0)
$t0, Sa2, retl
sv0o, $0, S0
Sra
$a3, 0(sa0)
$vo, $0, 1
Sra
$Spr $Spr -16
$ra, 0(Ssp)
$s0, 4($sp)
$sl, 8($sp)
$s2, 12 ($sp)
$s0, $a0, s$0
$s1, $al, s$0
Sal, $al, 1
conta cost
$s2, $v0, $0
$t0, $s1, 1
$a0, $s0, $toO
Sal, $sl1, 1
conta_sost
$v0, S$s2, $vO

s$ra, 0($sp)

$s0, 4($sp)

$sl, 8($sp)

$s2, 12($sp)
$sp, $sp, 16
Sra

H= FH o S

=

if (m != 1) goto ricorsione
else $t0=A[0]

if A[0]==k goto retl

else return O

A[0]=h
return 1

$s0=A

$sl=m

Sal=m/2
$vO0=conta sost (A,m/2,k,h)
$s2=conta_sost (A,m/2,k,h)
St0=4*m/2

Sal0=& (A[m/2]=A+m/2
Sal=m/2

$vO=conta sost(A,m/2,k,h)
t+conta_ sost (A+m/2,m/2,k,h)

Soluzione Es 2 (compito 1) - Versione che non usa registri $s*

conta_ sost: addi
bne
1w
beqg
add
jr

retl: SW
addi
jr

ricorsione: addi
sw
SW
SW
srl
jal
SW
1w
1w
sll
add
srl
jal

add

$to, $0, 1
Sal, $t0, ricorsione
$t0, 0(Sa0)
$t0, $a2, retl
$v0, $0, $0O
Sra

$a3, 0(sa0)
$vo, $0, 1
Sra

$sp, Ssp, -16
$ra, 0(Ssp)
$a0, 4($sp)
$al, 8($sp)
$al, Sal, 1
conta cost
$v0, 12 (S$sp)
$a0, 4($sp)
$al, 8($sp)
$t0, $al, 1
$a0, $a0, $toO
Sal, Sal, 1
conta_sost
$t0 12 ($sp)
$v0, $t0, $vO

H= H o A += =

HH= H=

if (m != 1) goto ricorsione
else $t0=A[0]

if A[0]==k goto retl

else return O

A[0]=h
return 1

Sal=m/2
$vO=conta sost(A,m/2,k,h)

Sa0=A

Sal=m

St0=4*m/2

Sal0=& (A[m/2]=A+m/2
Sal=m/2

$tO0=conta sost (A,m/2,k,h)
$vO0=conta sost (A,m/2,k,h)



1w Sra,
addi S$sp,
jr Sra

Soluzione Es 3 (compito 1)

Es3:

sum:

loop:

exit:

bne $al,
add $vo0,
jr Sra
addi $sp,
SW Sra,
sw $s0,
Sw Ssi,
SW $s2,
sw $s3,
add $s0,
add $s1,
add $s2,
add $s3,
beq $s2
1w $ao0,

0 (Ssp)
Ssp, 16

$0, sum
$0, $0

$sp, -20
0($sp)

4 ($sp)

8 ($sp)
12 (Ssp)
16 ($sp)
$a0, $0
sal, $0
$0, $0
$0, $O
Ssl exit
0($s0)

jal radiceq

add $s3,
addi $s2,
addi $s0,

Jj loop

1w Sra,
1w $so0,
1w $sl1,
1w $s2,
1w $s3,
addi S$sp,
jr Sra

$s3, $vO0
$s2, 1
$s0, 4

0($sp)
4 ($sp)
8 (Ssp)
12 ($sp)
16 ($sp)
Ssp, 20

H o S S S S S

+conta sost (A+m/2,m/2,k,h)

if m!=0 goto sum
else return O

$s0=A

$sl=m

$s2=1=0
$s3=somma=0

if i=m goto exit
Sa0=A[1]
SvO0=sqgrt (A[i
somma+=sqrt (
i++

A++

1)
A[i])



